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4) Using (a+ b)* = a* + 2ab + b*

ar = (26+1)7= 2004 2:20¢1 + |2 = oo + HO + | = HHI
312 = (3o+1)T = 307+ 203001 + > = 900 + 60 +1 = 96|
12 = (Ho+ 1) = = loc + 80 + | = 68l
512 = (50+1)T = = 2500 + (00 +| = 260l

a% - 2ab + b* _

i

Using (a—b)l
Hoo - Ho + | = 36|

19> = (2o-1)* = 20" -2-20°1 ¥ 1

2qt = (30~1)7 = 3cT-2:30-1 ¢ |2 = 900 — 60 + | = 84|

397 = (Ho—1)" = - 1600 — 80 + | = 152

§q*= (so-1)* = . 2500 — 100 + | = 240]|
5) 15% = 235 (51 = (150 +1)"

150% 4 2-1606-1 +1°
- 22500 + 300 + | = ;L;L)chi

1502 = 22500
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¢) ALL invoive (a+b)la-b) = a®=b"
@) hvinbes wiich differ by 2 (a-{-i)(a-i) - at=|

6 x 14 = (15+1)U5=1) = 5% — | = 225 —| = 224
S

v T e

-

"R

2 2

20 X 18 = U‘H-'I)UCI-I) = 18aF-1" = 36l =1 = 360
15 x 13 = (H+D(M=1) = I -1* = 196 — | = 195
lq x 17 = (B+1)8-1) = 182 1% = 324 - | = 323
g x 16 = (T+1)(17-1) = T*=1"= 2891 =288
20 x 194 = = 205 - | = Hoo —| = 349
4 x 139 = = Iqo* =1 = la6oo -1 = 19,599
8 x 6 = = 7T~ =T 449 -] = 48

b) nuimbere wiich duffer by 4 (4 + a)(a-12) = at— 4

¥ - 2% = 256 -4 = 252

1

12 x 14 = (le+2)(16-2)

——————}
14 ,}\ 18
Mad point is 16

b x 12 = (M+2)(H-2) Iyt~ 2% = 146 -H =192
(15 +2)(15-2) = |15t~ 2% = 225 -4 = 22|

1]
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17 x 13 =

2y 17 = (a+2)(1a-2) = 1a°- 2% = 361 -4 =357

3% 4 = _ NT-2%= 121-4 =117

L2 X 5% = - Lot_2% = 3600 -4 = 3596
192 x 18¢ = = 190%-2% = 36l06 -4 = 36,096
& X ¥ = = 2-2* = 36 -4 = 32

7) Consider The I demt ity +RLX+y)(a+b) = Xa +xb+ va + yb
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a) RECTANGULAR A !—-b——* ARCA of rectangle wilh
ARRAY ; sides x+Yy and a+b
X ma Xl s adh)
X+ \‘\ . ( . = sum of areas of -Fm»r(rec‘t)f)ieces
- |
ky ‘a'& (ia‘O = XQ+Xb+y4+yb
r

corhnied —



b) US%SWIBUTIVé PROPERTY ,
(,/—(; /:;b All.tej,;\ai\"vd\( o iy
X+ b Xx+y)a. + (x+ y “r

xa+ ya + xb+yb
= Xa+ xb +ya+yb
vsina comm ot +

ya + xb = xb + yoo bvt note Thot i+ m“th
, . A , . er
C) Dmm FoiL mne movic worl< hm? \Iles m:ﬁx%lsmip_,)'pgop
‘e for ax (x+y+z)(a+b)
- \ FE Fwst X&
X+t b) vy oujer xb
F ~—-L ‘I’ Inner ya
‘U Last Yb

= xa+xb+ya+yb

8) By re,f»ud'edly vsing DISTRIB Prop, devive an (dertity for (a+ b)3
(a+b)? = (a+b) ((a+b)(a+ b))

(a+b)((a+b)a + (a+b)b)

(a+b) ( 2+ ba + ab+b?)

(a+b) (a2 +2ab+ p2)  (using comm prpof muit ba=ab)
a (o4 2ab+b?) + b(a"+2ab+ b*)

a2 + 2a7b + ab® + a*b + 2ab* + b )HELe'm (a+b)z
|a® + 3a*b + 3ab> + b?| e (a+b)?
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q) Write am identity for (a+b)*— (a=b)"
by unsidening Tre f\"arw\.e,

. §o\+b[ _

o kb e KeY is to first Hgwre ewt The side of The

I . SuADED IN S@UARE INSIDE 7 =la=b
? -
(=1 »
] ? /// ¢ (a+b)r—(a-b)
= |&=H = AREA of Large Sguane — AREA of small sq nside
EEL : // AiR y ' M%qujmn s ot Fowr reckn I%W\f;‘\ltmg
l ¥ = sum of Tre aren of Tre ngles (Mborﬂgx
- { - ab +ab + ab + ab
b —i¢ o 5

Atterratively = Hab 5o [(at b= (a=b) = Hab|
Using i denktihes we're already deve (used In Prebiem 4)
(tk-l» b)l — (q_b)z = (0\2 4+ 2ab 4-52) — (41— 2ab + bz)

= g% 4 2ab +/b/L—/«i+2ab»-Jf= Hab




